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Question Number : 1 Question Id : 9497305478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The wage ceiling limit for an employee with disability is:

Options:
; % Rs 6500

. % Rs15.000

2 « Rs25.000

, # Rs10.000

Question Number : 1 Question Id : 9497305478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

. % ®6500

, » ¥15,000

. » ¥25,000

, » ¥10,000

Question Number : 2 Question Id : 9497305479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Average daily wage for an employee rated fortnightly is calculated on the basis of:
Options:

; = Allof working days in wage period / 15

-  All of working days in wage period / 13

- = All of working days in wage period / 14

4 = Allof working days in wage period / 12

Question Number : 2 Question Id : 9497305479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 9497305480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following establishment / factory are NOT covered under ESI?

Options:
1 % Private Educational Institutions

- w [Iransport Establishment

=  Railway Running Sheds

4 % Hotels and Restaurants

Question Number : 3 Question Id : 9497305480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 9497305481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



How will an employee be treated if his / her total wages goes beyond the wage ceiling
limit during the confribution period?

Options:
The person ceases to be an employee and the confribution paid and deducted is stopped
1 % with immediate effect.

He / She continues to be an employee and contribution is paid and deducted on the total
- % Wages earned by him / her.

He / She continues to be an employee and contribution is paid and deducted on the total

-  Wages earned at the start of contribution period.

He / She continues to be an employee and contribution paid and deducted on enhanced
4 # Wage is proportionately adjusted over the tenure of contribution period.

Question Number : 4 Question Id : 9497305481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 5 Question Id : 9497305482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following persons are NOT counted for coverage of an establishment /
factory under ESI Act?

Options:



1 % Paid Directors to the business establishment.

- u Casual workers directly employed by principal employees.

Workers of a canteen running in a cinema hall by a contractor to whom the canteen has
=z # been leased.

4 « A contractor leading the services of his employee.

Question Number : 5 Question Id : 9497305482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 9497305483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What rate of damages in percent p.a. may be levied by ESIC on the employer if the
nonpayment/delayed payment of contribution exceeds six months or above?

Options:

g4 o 25%

Question Number : 6 Question Id : 9497305483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% 10%

> % 15%
o ® 5%

4 25%

Question Number : 7 Question Id : 9497305484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a type of labour legislation?
Options:

, = Protective Legislation

- = Regulative Legislation

- % Social Security

4  Social Legislation

Question Number : 7 Question Id : 9497305484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 9497305485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The current rate of employer and employee contribution in ESI scheme is:

Options:

; = 4.65% and 1.35% respectively

5  4.75% and 1.75% respectively

5 = 1.35% and 4.65% respectively

4 # 1.75% and 4.75% respectively

Question Number : 8 Question Id : 9497305485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 9497305486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Workman Compensation Act 1923. Maternity Benefit Act 1965 and ESIC 1948:

Options:
, = Together can be applicable

- # Maternity benefit Act and ESI Act can be applicable at a time

- # Workman compensation Act and ESI Act can be Applicable at a time

If ESIC Act is applicable. Workman Compensation Act 1923 and Maternity Benefit Act
4 1965 is not applicable

Question Number : 9 Question Id : 9497305486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 9497305487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Labouwr is not a Commodity is the assertion made by:

Options:
, « The Declaration of Philadelphia adopted by 26th session of ILO

> % IheMagna Carta

= % The Constitution of India

4 % The International Labour Conference

Question Number : 10 Question Id : 9497305487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 9497305488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Model Grievance Procedures are given in:

Options:
, w Industrial Disputes Act

~ ® ESIC
= % Industrial Employment (Standing Order)

4 « Code of Discipline

Question Number : 11 Question Id : 9497305488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 9497305489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT included in wages for ESIC contribution?

Options:
1 # Production Incentive

- = Suspension Allowance

5 « Washing Allowance for Livery

4 u Heat, Gas and Dust Allowance

Question Number : 12 Question Id : 9497305489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 9497305490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
An employee is exempted from payment of his / her share of ESI contribution but entitled
to all social security benefit under the scheme. if the daily average pay is:

Options:
1w Upto Rs 100

5 % UptoRs 40

2 R Upto Rs 75

4 = No such exemption is permissible under EST act. 1948

Question Number : 13 Question Id : 9497305490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 9497305491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

If the contribution period for an employee is April 01 — September 2015, the benefit period
will start from:

Options:

1 % October 01. 2015 — March 31, 2016

v

5 of January 01, 2016 —May 31. 2016

- u December 01. 2015 — May 31. 2016

4 % July 01, 2016 — December 31, 2016

Question Number : 14 Question Id : 9497305491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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| % 01 3T, 2015 & - 31 A=, 2016
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Question Number : 15 Question Id : 9497305492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which section of ESI Act prohibits an employee to dismiss. discharge or reduce the
benefits or otherwise punish an employee during the period he/she is in receipt of sickness
benefits or maternity benefits?

Options:
1 « Section 73
- % Section 40

= % Section 70

4 % Section 74



Question Number : 15 Question Id : 9497305492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 16 Question Id : 9497305493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The maximum duration for availing sickness benefit is:

Options:
, « 91 days in 2 consecutive benefit periods

- w 718 daysin 2 consecutive benefit periods

- % One month in 2 consecutive benefit periods

4 = 39 daysin 2 consecutive benefit periods

Question Number : 16 Question Id : 9497305493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 9497305494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The comumutation of Permanent Disability Benefit (PDB) into lump sum payment (onetime
payment ) does not exceed:

Options:

; w Rs 1.50 per day with the ceiling of Rs. 10,000

> % Rs 1.50 per day with the ceiling of Rs. 25,000

=  Rs 1.50 per day with the ceiling of Rs. 30,000

4 # Rs 1.50 per day with the ceiling of Rs. 45,000

Question Number : 17 Question Id : 9497305494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 18 Question Id : 9497305495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following benefits is NOT covered under ESI scheme to IP (Insured
Person)?

Options:

, = Maternity benefit during the period of confinement.

- u Disablement benefit : TDB and PDB arising out of inquiry employment injury.

5  Dependent benefit for educational loans for professional & vocational education.

4, w Other benefits such as funeral expenses. medical bonus. rehabilitation allowance etc.



Question Number : 18 Question Id : 9497305495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 9497305496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Under ESI scheme, the medical care expenses is administered by:

Options:

, = Principal employer in full settlement of expenses occurred to the ESI beneficiaries :

Issuance of insurance policy by the owner of establishment to the ESI beneficiaries with

- % the ceiling of expenses amounting to Rs. 30.000 per person.

5 « Respective State Government contributing 12.5% of expenditure on ESI beneficiaries.

The principal employer and state government in the proportion of 25% and 75%

4 % Tespectively.

Question Number : 19 Question Id : 9497305496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 9497305497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To cater to the needs of business activities. Manipur Cuisine (code : 47000000270001105 )
opens another branch which falls within the jurisdiction of regional office / sub regional
office of the main office:

Options:

. « Thenew branch will comply under main code of Manipur Cuisine.

Manipur Cuisine will have to apply for fresh emplover code with respect of its new branch

P
a

Manipur Cuisine will have to apply for the generation of sub code to comply with the
provisions of the Act.

Manipur Cuisine will have to apply for new emplover code and sub code as the earlier
code stands cancelled immediately.

Question Number : 20 Question Id : 9497305497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 9497305498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the maximum amount of medical bonus admissible to qualify as an insured
woman for the wife of an IP (Insured Person) if the confinement occurs at a place other
than a EST hospital?

Options:

1 ® Rs 250

.  Rs2.500

Question Number : 21 Question Id : 9497305498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

| % ®250

. v 2,500

- % ®750

L % ®1250

Question Number : 22 Question Id : 9497305499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the minimum qualification required for a person to qualify as a judge of the ESI
court?



Options:
1 « Judicial Officer with minimum 5 years standing.

- # Legal Practitioner with minimum 3 years standing.

- = Chartered Accountant with minimum 5 years standing.

4 = Special Legal Officer with minimum 5 years standing.

Question Number : 22 Question Id : 9497305499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 23 Question Id : 9497305500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Dependent as per ESI does not include:

Options:
, = Widow of IP (Insured Person)

- » Legitimate or adopted son who has not attained the age of 25 years

5  Married legitimate or adopted daughter

4 % Widowed mother

Question Number : 23 Question Id : 9497305500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 9497305501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For enhancing the social security coverage the procedure for assessment of dues and for
providing better services to the beneficiaries, the ESI Act 1948 was amended in:

Options:
1 % 2005

2012

r2
g‘{

5 « 2010

4 % 2014

Question Number : 24 Question Id : 9497305501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % 2005

. % 2012
- v 2010

. % 2014

Question Number : 25 Question Id : 9497305502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following executives are the ex — officio members of the ESIC?

Options:



; Chairman of the Board of Corporation

- u vice — President of the Corporation

5  Three members of parliament and DG of the Corporation

4 # Vice—President & vice chairman of the Corporation

Question Number : 25 Question Id : 9497305502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 26 Question Id : 9497305503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Employee for the purpose of ESIC Act does not include:
Options:

, « Member of Indian navy. Military and Air force

- » Person employed where wage does not exceed Rs 10.000

5 = Apprentice

Services of whom are temporarily lent or let on hire to principal employer by an

4, % immediate employer under the contract of service.

Question Number : 26 Question Id : 9497305503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 9497305504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Section 28 of ESI Act 1948 deals with:

Options:

, = Principal Employer to pay contributions in the first instance.

5 % Employees Insurance Court.

- » Benefits to which insured persons. their dependents are entitled to.

4  Purpose for which the ESI fund may be expended.

Question Number : 27 Question Id : 9497305504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 9497305505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to ESI Act 1948, what is the amount payable to the dependents or to the person
who performs the last rites of the insured person?



Options:
. % Rs5.000

.  Rs10.000
- % Rs15.000

4 % Rs25.000

Question Number : 28 Question Id : 9497305505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

seHaTs FfafaasA 1948 & e f3al 1 a1 37 =afaq & e ofYr &=
gl § S §d e # O dTR #:ar 87

Options:

. % ®5,000

, » ¥10,000

. » ¥15,000

, » ¥25,000

Question Number : 29 Question Id : 9497305506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Seasonal factory includes a factory which is engaged for a period not exceeding
number of months in a year?
Options:
1% 4

Question Number : 29 Question Id : 9497305506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 9497305507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who established ESIC?
Options:

1 « Central Government

- % State Government

5 % Supreme Court

4 % Parliament

Question Number : 30 Question Id : 9497305507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
| v g TR

5w Usd HIhKR

Question Number : 31 Question Id : 9497305508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many wings does ESIC has?
Options:

1 2
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Question Number : 31 Question Id : 9497305508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SomameTr ¥ fraa e ¥
Options:

1 ¢ 2

2_&33
3_&%4

4 % 5

Question Number : 32 Question Id : 9497305509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following committee administers the affairs of ESIC?

Options:

, « Standing Committee

-~ » Employees Welfare Standing Committee

- » Employees state Administration Committee

4 % Medical Benefit committee

Question Number : 32 Question Id : 9497305509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 33 Question Id : 9497305510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
All contributions paid under ESI Act and other receivables on behalf of the corporation
shall be paid into a fund called:

Options:
1 % Provident fund

- % Pension fund
= « ESI fund

g Employees welfare fund

Question Number : 33 Question Id : 9497305510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 34 Question Id : 9497305511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If an insured person makes wrong/false statement with a view to avail benefits under ESI
Act 1948. such an act 1s punishable with:

Options:

, w» Imprisonment extending to six months

» u Fine extending to Rs 10,000

=  Imprisonment extending to six months or fine extending to Rs 2000 or both.



4 = Imprisonment between three to six months or fine extending to Rs 2000 or both

Question Number : 34 Question Id : 9497305511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
| % T FEI de F HRETE

% 10,000 T T SJHA

f

B
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Question Number : 35 Question Id : 9497305512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Penalties for non-compliance by the employers under ESI Act 1948 like nonpayment of
delayed contribution are discussed under which section of ESI Act?

Options:

1&522

Question Number : 35 Question Id : 9497305512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 ® 22

o ® 35



T W 45

4« 85

Question Number : 36 Question Id : 9497305513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In case the employer fails to pay contribution on the date such contribution becomes due.
he/she is liable to pay interest at the rate of:

Options:

1 ® 5%

Question Number : 36 Question Id : 9497305513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 ® 89‘#0
R 59‘#0
2 & 12%

4 % 10%

Question Number : 37 Question Id : 9497305514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Any employer convicted by a court for an offence punishable under ESI Act 1948
conmunitting the same offence shall for every such subsequent offence be punished with:
a. Imprisonment for a term which may extend to 2 years
b. Fine of Rs 5.000

Options:
; « Onlya



> % Onlyb

3 % aandb

4 % Eitheraorb

Question Number : 37 Question Id : 9497305514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 38 Question Id : 9497305515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Offences by companies are discussed under which section of ESI Act 19487

Options:
1 ® 35
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Question Number : 38 Question Id : 9497305515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



FITTIT ZART AT & I H SUHNE FAOETH 1948 T FH ORT F AT
T=T & FET 22

Options:

1 #® 35
o ® 45
=z ® 85

Question Number : 39 Question Id : 9497305516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If the cheque drawn in favour of ESIC by the emplover of an establishment towards
contribution under ESI Act or any other purpose bounces due to the reason of insufficient
funds, it is an offence comumitted under:

Options:

, « Negotiable Instrument Act

> % Indian Contract Act

- » Indian Companies Act

4 » Employees Compensation Act

Question Number : 39 Question Id : 9497305516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 40 Question Id : 9497305517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An insured person under the ESI Act 1948 is entitled to receive certain benefits. But the
insured person is:

Options:

, « Not entitled to receive more than one benefit for the same period

Entitled to receive more than one benefit for the same period or compassionate
> % ground

Entitled to receive more than one benefit partly in cash and receive the other benefits in

5 % kind for same period

, = Entitled to receive more than one benefit on approval of authorities concerned.

Question Number : 40 Question Id : 9497305517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 41 Question Id : 9497305518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To avail cash benefit paid for prolonged illness:
Options:
The IP (Insured Person) should be in continuous employment for 2 years and have

. « contributed for 156 days in preceding 4 contribution periods.



The IP (Insured Person) should either be in continuous employment for 2 years or
- % contributed for 156 days in preceding 2 contribution periods.

= % IP (Insured Person) should have contributed for 78 days in relevant contribution period.

4 # IP (Insured Person) should have 91 days accumulated in 2 consecutive benefit periods.

Question Number : 41 Question Id : 9497305518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 42 Question Id : 9497305519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The quantum of temporary benefit is:
Options:

; = 100% of average daily wages.

o  90% of average daily wages.

5 = 5% of average daily wages.

4 = 50% of average daily wages.

Question Number : 42 Question Id : 9497305519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| x A 2w A F 100%
, o HiEd S A=Y #1 90%
. » HIEd S AR 1 75%
, « HIEd S AR T 50%

Question Number : 43 Question Id : 9497305520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Under ESI scheme the minimum pension paid to the same family of deceased IP (Insured
Person) 1s:

Options:

, « Rs1.200 per family

> = Rs 1.000 per family

5 = Rs 1.500 per family

4 = Rs2.000 per family

Question Number : 43 Question Id : 9497305520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| » ¥ 1,200 gfer 9f@Ew

» % ¥ 1,000 9fa IRER
- % ¥ 1,500 9fa IRER

4 % ¥ 2,000 9fc IRER



Question Number : 44 Question Id : 9497305521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The detailed scheme of the health insurance scheme for industrial workers was first
submitted by:

Options:
1 « B.P. Adarkar

- % B.P. Wadia
= % V.V.Giri

4 % MV.Rao

Question Number : 44 Question Id : 9497305521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 45 Question Id : 9497305522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ESIC Scheme was inaugurated on:

Options:
R 7 >
, « 24 February. 1952

24 February, 1962

[
5

24 February, 1950

24 February, 1944

Question Number : 45 Question Id : 9497305522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

SUHATSHT AT & YANF Fa f&ar aar?
Options:

| » 24 HTEd, 1952
. % 24 WIE, 1962
- % 24 wIEdl, 1950

, % 24 wIEdN, 1944

Question Number : 46 Question Id : 9497305523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Health as a state of social. physical. mental well-being, not merely absence of disease™ is
the definition given by:

Options:
1.« WHO

o W UNO
5 % UNICEF

4 % ICHR

Question Number : 46 Question Id : 9497305523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TITEST Tl T T 7 21T &7 Aar ¢ dfoss TANSS, AF, AFTas FHodarr
#r yaTT & T ofteT saE ¥ e & 22

Options:
, e gua HT (WHO)

1.,
FIFT T HY (UNO)

o W

&l If8E (UNICEF)

, % FSHTIHNT (ICHR)

Question Number : 47 Question Id : 9497305524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

The concept of welfare state and democratic value is implicit in which part of the
Constitution of India?

Options:

, » Fundamental rights and the preamble

-  Directive Principle of State Policy

5 % The preamble

4 = Fundamental rights, the preamble and directive principle of state policy

Question Number : 47 Question Id : 9497305524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
STT & T & &9 997 & FeavanT =0 1T SiFd s Hed &1 FEAROT

fafea 22

Options:
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Question Number : 48 Question Id : 9497305525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Sickness benefit is payable at the rate of:

Options:
» 70% of wages payable to IP (Insured Person) for certified sickness period

1.
« 73% of wages pavable to IP (Insured Person) for certified sickness period

% 78% of wages payable to IP (Insured Person) for certified sickness period

91% of wages payable to IP (Insured Person) for certified sickness period

Question Number : 48 Question Id : 9497305525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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, o« AN F IAMOT 3 F e s (A afF) 7oAl 7 91%

Question Number : 49 Question Id : 9497305526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To promote the norms of small family. the cash benefit paid to the insured person is called:

Options:
1 % Extended sickness benefit

> « Enhanced sickness benefit
=z % Medical bonus

4 = Maternity benefit

Question Number : 49 Question Id : 9497305526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

|« EERE A fEders

o » 0T ATl R
5 % [EIfehcHl SITd
4 x Feea fEaams

Question Number : 50 Question Id : 9497305527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Extended sickness benefit is payable at a rate of:
Options:
; = 100% of wages payable to IP (Insured Person)

>  80% of wages payable to IP (Insured Person)

5 = 0% of wages payable to IP (Insured Person)

4 # 90% of wages payable to IP (Insured Person)

Question Number : 50 Question Id : 9497305527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Trraia = feaensT &1 e 59 & @ g7 77

Options:

., AT (FETRa @) #F oF Fegd #1 100%

28

. o IO (AAFT ET) F T Aqd F 80%

, =TT (FFTRT @) # SF JA=Sg 1 70%

=

, =TT (FHTRT @) F ST A= F 90%

4,

Question Number : 51 Question Id : 9497305528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Employment inquiry has been defined under:

Options:
1 % Section 2 (7) of ESI Act

o  Section 2 (8) of EST Act

= # Section 2 (9) of ESI Act

4 Section 2 (10) of ESI Act

Question Number : 51 Question Id : 9497305528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

|« SvEaE AT & a2 (7)
, o sTEATs HRATTHE F g 2 (8)
. » STEAE HOfETE Froaw 2 (9)

, » STHATE HRATETE Fr awr 2 (10)

Question Number : 52 Question Id : 9497305529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In case of closure of factory / establishment. unemployment allowance under Rajiv Gandhi
Shramik Yojna is for:

Options:

1 % 350% of work for maximum 6 months

> % 50% of work for maximum 9 months

=  30% of work for maximum one year

4 # 50% of work for maximum one year 3 months

Question Number : 52 Question Id : 9497305529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
FREH TUS F 9 & J & TuT #, T el aF e o F daed

fraeT sear f&ar smar 82
Options:

|« HEHaH 6 AR & T &&# F1 50%

. » A 9 A F T FH # 50%

- v HAFHAH TF I¥ F T F17 F 50%

, % HE&HIH TH 99 3 A & v FHF F 50%

Question Number : 53 Question Id : 9497305530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The old age medical care is admissible to the IP (Insured Person) and spouse either on
retirement on attaining the age of superannuation or under VRS / ERS or the person
having to leave service due to permanent disability amounting to:

Options:

LW Rs 120 p.a.

5 % Rs 100 p.a.

- % Rsl25pa

4 % Rs 150 p.a.

Question Number : 53 Question Id : 9497305530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

| v ¥ 120 gfaay

. % ¥ 100 9foay
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4 % ¥ 150 9faaw

Question Number : 54 Question Id : 9497305531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For providing regular employment to person with disability:

Options:

, « Employees contribution is paid by Central Government for 3 years

Employees contribution is paid by Central Government till the time disabled person is

- % employed

- » Employees contribution is paid by Central Government for 5 years



4 % There is no such relaxation under the Act

Question Number : 54 Question Id : 9497305531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 9497305532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which section of ESI Act 1948 deals with punishment for false statement by IP?

Options:
1« Sec 84

- % Bec V4
= % Secdd

4 % Sec 85

Question Number : 55 Question Id : 9497305532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 56 Question Id : 9497305533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Section 85.85(A) and 86 of ESI Act deals with:
Options:

; = Repayment of benefit improperly received

> % Bar on benefits under other enactments

Provision for prosecution for non / delayed payment of contribution. non submission of
5 « returns/ records

4 = Powers of central government to give directions.

Question Number : 56 Question Id : 9497305533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
STHIE HfAfaTA fr unrr 85, 85(v) 3T 86 forwer How H 272

Options:
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Question Number : 57 Question Id : 9497305534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Under ESI. Insured woman is paid maternity benefit for medical termination of pregnancy
(MTP) for a period:

Options:
1 « 6 weeks

> % 12 weeks

= % 4 weeks



4 % 8weeks

Question Number : 57 Question Id : 9497305534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 58 Question Id : 9497305535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is NOT true with regard to TDB?

Options:
TDB is payable fo IP (Insured Person) who suffers employment injury or occupational
, % disease that results in temporarily incapability to work.

- w DB rateis 90% of average daily wages.

There is no prescribed limit for the duration of TDB. This is payable as long as temporary
5 % disablement lasts and significant improvement by treatment is possible.

IP (Insured Person) is paid TDB even if the temporary disablement spells lasts for less
4  than 3 days of accident.

Question Number : 58 Question Id : 9497305535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 59 Question Id : 9497305536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The minimum rate of DB admissible to the dependent of the deceased IP (Insured Person) is:

Options:
, « Rs 14 perday

> # Rs 10 per day

= = Rs 24 per day

4 = Rs 16 perday
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State which of the following statements is true?

Options:
, = Standard benefit rate is twice the average daily wage.

> w Standard benefit rate is equal to average daily wage

-  Standard benefit rate is half the average daily wage

4 w Standard benefit rate is 0.75 percent of average daily wage
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Question Number : 61 Question Id : 9497305538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The term of office members representing employers and employees in a standing
comunittee shall be:

Options:

, = 1 year from the date on which the election is notified.

5 o 2 years from the date on which the election is notified.

5 w 3 Yyears from the date on which the election is notified.

4 w 5 years from the date on which the election is notified.
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Question Number : 62 Question Id : 9497305539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IP (Insured Person) has been paid sickness benefit for 84 days from July 03 to September
24, 2015, He again submits sickness certificate from October 10. 2015 to November 13.
2015. He will be paid sickness benefit for how many days for the second spell?

Options:
{ %7 days

> w 8days

5 9 days

4 # No sickness benefit will be admissible in the same benefit period.
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Question Number : 63 Question Id : 9497305540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The cessation of membership of a corporation standing committee or medical benefit
conunittee occurs on:

Options:

, « failure to attend three consecutive meetings

- » failure to attend five consecutive meetings

- u failure to attend two consecutive meetings

4 % There is no such restriction on the members of ESIC

Question Number : 63 Question Id : 9497305540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=1 &7 Tt gfaE o =g o 83T & gesmar F7 AT &9 g 40
g7

Options:

| v AR dF 5w F 97 o H Bva w W)
. % TRMER 91 9%H H A7 o F {@ed B W
. » OPMAR & 8@ H 1 ot # Fed B W

. » STAHEE ¥ WeTdl W §H AE F HS Fiaay A4 &

Question Number : 64 Question Id : 9497305541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to section 40 of ESI Act 1948 it is incumbent upon the principal employer to
pay both employer contribution and employee contribution in respect of every employee
whether directly employed by him or through:

Options:
1 ® Insured person



- u Insurable employment

_— Immediate employer

4 = Seasonal factory
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Under section 29 of ESI Act 1948, ESIC is empowered to:
a) Acquire and hold property, both movable and immovable.
b) Invest any money and reinvest or realize such investment.
c) Raise loans and discharge loans.

Select the correct answer from the below options.

Options:
; w Onlya

- % aandb

5 w Dbandconly

4 @ bandc

Question Number : 65 Question Id : 9497305542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Sumame FOfATH 1948 #r unrr 29 F TS, SUHITEET T FEW &

a. T AT M=o AT, TEITed &7 HIUGEeT i Hiy s &7
b. Bl Tf¥r # fder w3 I TR F @ 0w By w7 gy w1
coll
c. HUT ST AR HOT oMue FI
fF=ofeT TFear # ¥ 981 3¢ &1 799 T

Options:

| % had a
., % a3Rb
- % b3Rc
4.#3,1::3#{:

Question Number : 66 Question Id : 9497305543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following benefits is NOT covered under ESI Act 19487

Options:
1 % Vocational Rehabilitation

- u Physical Rehabilitation

- u vocational training for skills upgradation under RGSKY.

4 « FProportionate expenses of dependent daughters marriage
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Question Number : 67 Question Id : 9497305544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a distinct feature of ESIC?

Options:
; = Abody corporate by the name of Employees® State Insurance Corporation

-~ u Perpetual Succession

%z % Common Seal

4 + Can sue but cannot be sued
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Question Number : 68 Question Id : 9497305545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Travelling to and from the place of employment prime facie does not fall within the
meaning of in the course of employment. But, there may be a reasonable extension i
both the time and place and an employee may be regarded as “in the course of his
employment™ even though he had not reached / had left his employers premises. The
above explanation is:

Options:
, w Valid extension of employment.



- u Reasonable extension of employment.

-  Notional extension of employment

4 # Outside the purview of ESI Act 1948.
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To which extent would disablement be considered if absolute deafness is caused to an
employee due to an accident in the course of employment under ESI Act ?

Options:
1« 100% Permanent Disablement

- % 90% Partial Permanent Disablement

5 w 100% Temporary Total Disablement

4 = 100% Partial Temporary Total Disablement
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Correct: 1 Wrong: 0
Which of the statements below is incorrect for an employee to be insured under ESI Act
19487
It 1s mandatory that :
a) He must be employed in a factory or establishment to which this Act applied.
b) Contribution must be paid by him towards “Insurance Fund' through the employer.
¢) Employer is not liable to pay any sumn of amount in “Insurance Fund™.
Options:
; » Onlya

> % Onlyb

-  Onlyc

4 % a.bandc
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Question Number : 71 Question Id : 9497305548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The wages of an employee in an establishment is Rs 14,500 and is insured under ESL
During the current contribution period he earns overtime allowance resulting in increase of
his wages to Rs 18.000. Which of the following conditions are true under ESI Act, 19487

Options:

, w» Contribution will be paid and deducted on Rs 14.500.

5 o Contribution will be paid and deducted on Rs 18,000

- u Contribution paid by employee will be Rs 15.000 and Rs 14.500 will be paid by employer.

No contribution will be paid or deducted because the employee has crossed the maximum
4 # Wage ceiling of Rs 15,000
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following conditions fulfill the case of interruption in the course of
employment?
Options:
A workman who is idle because he has run out of material or because machinery has
, # broken down is still acting in the discharge of assigned duty.

A workman who interrupts his work for drinking water at intervals during his duty hours.

Workman who visits the pay office for the purpose of drawing his pay under employer
direction to present himself in person.

Workman on a night shift leaves the premises for bringing packaged food for his dinner
4  and gets injured on the way.
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Correct: 1 Wrong: 0

Who is responsible for destroying by burning the stenographic record of confidential and
secret letters after they have been typed and issued?

Options:
1. % UDC

- % Diarist
-  Personal Assistant/ Steno Typist

4 % Assistant
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Correct: 1 Wrong: 0

CPIO stands for:

Options:

1 « Central Public Information Officer.

- = Central Public Inquiry Officer.

= # Central Public Officer of India.

4 % Central Government Public Information Officer.
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Question Number : 75 Question Id : 9497305552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

National Commission for Women is a:
Options:

, « Constitutional Body

- u Statutory Body

5 % Autonomous Body

4 = Private body
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Question Number : 76 Question Id : 9497305553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A record of discussion prepared immediately after the meeting and circulated to the
Departments concerned is called:

Options:
1« Minutes

- % Endorsement
= % Office Order

4 % Notification

Question Number : 76 Question Id : 9497305553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
d3% & g TH F gid AR R T 3R wafte fawmeEn & fafe R e

Nerie 598 @ =47 Fgarar 27

Options:



Question Number : 77 Question Id : 9497305554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
Absence of work on account of participation in ‘Gherao” is treated as:

Options:
, w Special CL

5 #® Half a day casual leave

z % Leave with or without allowances

4  Unauthorized absence involving break in service
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Question Number : 78 Question Id : 9497305555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which statement is false with regard to Part File?

Options:
1 #% Part file contain remarks recorded on a case to facilitate its examination and decision.

Part file is a collection of papers on a specific subject bearing a distinct file no.. containing
- % allnotes. correspondence appendices to notes / correspondence.

Part file is one on which action is not yet complete.

Part file is opened when it is necessary to process a fresh receipt or a note in a situation
4 W that is not likely to be available for some time due to genuine reason.
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Sectional Note is:
Options:

, = Anoffice note prepared in the section while submitting a receipt

- = Anote sent to various sections for eliciting

= % Note initiated above section level.

In a single case when there are several points for an order to be separately dealt with. each
4  Separate point is noted upon in sectional notes.
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Question Number : 80 Question Id : 9497305557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following does not fall under departmental mstructions?
Options:
Designations of the officer who will receive the urgent Dak outside office where there is
, % notresident clerk present.

- u Categories of receipts which should be entered in the Dak registers

- « Designation of officers who can send and receive e-mail to their counterparts.

The level at which the review of inspection reports or review of compliance report should
4 % beundertaken.
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The notation *cc” on letters. memos and email indicates:

Options:
1 % Correct Copy

- u Carbon Copy

5 u Critical Copy

4  Courtesy Copy
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Question Number : 82 Question Id : 9497305559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Information under Rights to Information does not include:

Options:
1 % Records
o % Memos

%z % e-mail

4 « Notices
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Question Number : 83 Question Id : 9497305560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Section 20 of the Rights to Information Act 2005 imposes penalty on a public information
officer for failing to provide information:

Options:
1 # Rs 250 per day.

> % Rs 250 per day. to the extent of maximum Rs 50000
= % Rs 300 per day. to the extent of maximum Rs 25,000

4 « Rs 250 per day. to the extent of maximum Rs 25.000
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Correct: 1 Wrong: O
Which one of the following statements is NOT correct?



Options:

, = Section officer is the in charge of the section. the lowest organization unit in a department.

Section officer is responsible to maintain a list of residential address of staff working in
> # his‘her section.

Relieving the Officer of much of his routine work and generally assisting in such a manner
5 o as directed.

Section officer ensures that the returns namely weekly arrear statements. statement of
cases pending over one month. progress report on recording and indexing are submitted
4 % promptly.
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Question Number : 85 Question Id : 9497305562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many parts and sections are there in Gazette notifications?
Options:
Five parts where part I has 4 section. part I has six sections, part III has 4 section and part
. « IV & part 'V have no sections.

- w There are 4 parts and [ topic.



- % [Ihere are two parts and eight sections

4 # There are no parts and sections

Question Number : 85 Question Id : 9497305562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 86 Question Id : 9497305563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The UID project has now been renamed to:

Options:
1 « Aadhar

> % Sable
- % Pratiksha

4 % Sawavlamban

Question Number : 86 Question Id : 9497305563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 87 Question Id : 9497305564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
All moneys received by Government of India is credited to:

Options:
1 « The Consolidated Fund of India

- % The Public Account of India

- % [Ihe Contingency Fund of India

4 % The Consolidated Account of India

Question Number : 87 Question Id : 9497305564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 88 Question Id : 9497305565 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The functions of Comptroller and Auditor General of India include auditing and reporting
on the receipts and expenditures of:

Options:

; % Union Government only

5 % State Government only

=z % Union and State Governments



4 « Union and State Governments and Companies substantially financed by both

Question Number : 88 Question Id : 9497305565 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 89 Question Id : 9497305566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is Calling Attention Motion?
Options:

, « Any member calling the attention of a minister to any matter of urgent public importance

Motion for the adjournment of the business of the House for discussing a definite matter of
- % urgent public importance

- # It is amotion admitted by speaker but no date is fixed for discussion

4 # Thisis amotion to express lack of confidence on the Council of Ministers

Question Number : 89 Question Id : 9497305566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 90 Question Id : 9497305567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Zero hour is:
Options:

, % When the proposals of the opposition are considered

-  Interval between the question hour and other business hour

- u Inferval between the morning and afternoon sessions

4 % When amoney bill is introduced in the Lok Sabha

Question Number : 90 Question Id : 9497305567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 91 Question Id : 9497305568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Written answers which are placed on the table of the house and no supplementaries are
asked for in respect to such answers is called?

Options:
1% Starred questions

-  Unstarred questions



5 = Short Notice questions

4 % Half-an-Hour discussion

Question Number : 91 Question Id : 9497305568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 92 Question Id : 9497305569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The expression ‘the matter is under consideration’ or ‘necessary action will be taken’ are
called:

Options:

L ¥ Parliamentary Assurance

> % Point of Order
z % No Confidence Motion

4 % SUO MOTU statement

Question Number : 92 Question Id : 9497305569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 93 Question Id : 9497305570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The running summary of the principles and policy relating to the subject with number and
relevant decisions. orders. extracts of notes and correspondence with earlier papers and
model forms is known as:

Options:

; = Standing Note

-  Standing Guard file

= % Precedent Book

4 % Reference Folder

Question Number : 93 Question Id : 9497305570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 94 Question Id : 9497305571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Files endorsed as ‘Keep and Microfilm’:



Options:

, = Areof secondary value having reference value not exceeding 10 years

Are required to be preserved for specific period only

rna
&

Contains material which are unlikely to be required for frequent references by various
agencies

Qualify for permanent preservation for administrative purposes and access to it in original
4 « form is restricted to barest minimum.

Question Number : 94 Question Id : 9497305571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T AR ASHIFeA HU & T IFegor@a Aol Blea:
Options:

| ST Tem Y E A w55 10 99 ¥ Hfow Ad R

., » ad fafdre aEfer & v sxfea e S s §

T IrEEht onfie & S RfEes vfiEr AR wEaR "@es & T s
5w B T HeITAT ALl

Jemafes YA & o Tl wRetor &g dvmar greg #k
AT §T H SHHA AN Hedd +JaAaH F & fow Jfaetad

4,f%|

Question Number : 95 Question Id : 9497305572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
An open office has an advantage of:

Options:
|« Economy

. » Inflexibility

5 ® Privacy

4 % Avoidance of noise



Question Number : 95 Question Id : 9497305572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 96 Question Id : 9497305573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an instrument for *Check on Delay™?

Options:

. w Weekly arrear statement

o  Section diary

% % Call book

4 = Monthly progress report on recording and review of files

Question Number : 96 Question Id : 9497305573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 97 Question Id : 9497305574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What is NOT the intended benefit of office automation?
Options:
. w Systematic storage and retrieval of information

- % Quick processing and delivery of information

-  Declare existing staff as surplus

4 w Faster creation of document and its multiple copies

Question Number : 97 Question Id : 9497305574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 98 Question Id : 9497305575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the organizational and methods techniques (O&M) has been defined as the
application of techniques designed to establish the tume for a qualified worker to carry out
a specific job at a defined level of performance?

Options:
; % Methods Study

-~ # Motion Study

3 « Work Measurement

, w Organization Analysis

Question Number : 98 Question Id : 9497305575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 99 Question Id : 9497305576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT “Aids to Processing’?

Options:
, = Standing Guard files and Standing Notes

- % Precedent Book
= « Manual of Office Procedure

4 = Reference folders containing copies of circulars etc.

Question Number : 99 Question Id : 9497305576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 100 Question Id : 9497305577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a Attached office?

Options:
Offices responsible for providing executive direction required in the implementation of
policies of the Department and are the repository of technical information for the
| % Department.

Offices which generally function as field establishments/agencies responsible for the
- % detailed execution of the policies.

5  Offices which are located in an attached building of the main Department

4 = Offices which are directly under the Department.

Question Number : 100 Question Id : 9497305577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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